STAGE1 ~ GRAMMAR

3 there is / there are: negative

Negative singular ‘ Negative plural ‘ Negativa 3 Mira el dibujo. Luego indica la respuesta

there isn’t there aren’t no hay correcta.

Se usa there isn’t y there aren’t para hablar de lo
que no hay.

There isn’t a plate. No hay un plato.
There aren’t two plates. No hay dos platos.

1 Une las dos partes de las frases. Luego
escribelas.

There isn’t two girls.
Thereisn't a cup. 1
There aren’t two photos. e §
There isn’t awaiter. A7 g A = 3
There aren't aplate. PN e . v
There aren't ﬁVﬂl’ﬂjf- ) a 3
There isn't a chair. v 3 e | ‘
There isn't a plate. In the photo, there isn’t /@ren’dthree
1 boys.
2 1 There isn’t / aren’t a waiter.
3 2 There isn’t / aren’t six chairs.
4 3 There isn’t / aren’t twenty plates.
5 4 There isn’t / aren’t a glass.
6 5 There isn’t / aren’t a menu.
6 There isn’t / aren’t ten cups.

2 Completa las frases con isn’t o aren’t.

} .
There _aren’t two waiters.

1 There ____ aphoto.

2 There_____ four boys.

3 There____ acup.

4 There ____ three glasses.
5 There_____ aplate.

6 There ____ five girls.

Vocabulario clave

boy(s) chico(s) chair(s) silla(s) cup(s) taza(s) girl(s) chica(s) glass(es) vaso(s) menu carta
photo(s) foto(s) plate(s) plato(s) waiter(s) camarero/a(s)
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